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Q13: Explain how a stream of water can

be attracted to a charged rod.
(Copyright “Free High School Science Texts,2007)

Q14:What is the process called where
molecules in an uncharged object are
caused to align in a particular direction

due to an external charge?
(Copyright “Free High School Science Texts,2007)

Q15:The hinged conductor moves away
from the fixed conductor if a charge

is applied to the electroscope,

because

a) like charges repel each other.

b) like charges attract each other.

c) unlike charges attract each other.

d) unlike charges repel each other.
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